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Math 3

Unit 4.4 Sum and Difference Identities (Tangent) PRACTICE

Name___________________________________
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Simplify.

1)  
tan 6q  - tan -4q

1 + tan 6q tan -4q

tan 10q

2)  
tan 4q  + tan 6q

1 - tan 4q tan 6q

tan 10q

3)  
tan -5q  - tan 3q

1 + tan -5q tan 3q

tan -8q

4)  
tan -v - tan 6v

1 + tan -vtan 6v

tan -7v

5)  
tan -5u - tan -2u

1 + tan -5utan -2u

tan -3u

6)  
tan u + tan 4u

1 - tan utan 4u

tan 5u

7)  
tan -3q  - tan -q

1 + tan -3q tan -q

tan -2q

8)  
tan -3x + tan -x

1 - tan -3xtan -x

tan -4x
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Verify each identity.

9)  tan (180° - q ) = -tan q

tan (180° - q )

= 
tan 180° - tan q

1 + tan 180°tan q

= 
0 - tan q

1 + 0tan q
= -tan q

10)  tan (q  + 45°) = 
tan q  + 1

1 - tan q

tan (q  + 45°)

= 
tan q  + tan 45°

1 - tan q tan 45°

= 
tan q  + 1

1 - tan q  × 1

= 
tan q  + 1

1 - tan q

11)  tan (p

4
 - q ) = 

1 - tan q

1 + tan q

tan (p

4
 - q )

= 
tan

p

4
 - tan q

1 + tan
p

4
tan q

= 
1 - tan q

1 + tan q

= 
1 - tan q

1 + tan q

12)  tan (q  - p) = tan q

tan (q  - p)

= 
tan q  - tan p

1 + tan q tan p

= 
tan q  - 0

1 + tan q  × 0
= tan q

13)  tan (135° + q ) = 
-1 + tan q

1 + tan q

tan (135° + q )

= 
tan 135° + tan q

1 - tan 135°tan q

= 
-1 + tan q

1 - -tan q

= 
-1 + tan q

1 + tan q

14)  tan (q  - 
3p

4 ) = 
tan q  + 1

1 - tan q

tan (q  - 
3p

4 )
= 

tan q  - tan
3p

4

1 + tan q tan
3p

4

= 
tan q  - -1

1 + tan q  × -1

= 
tan q  + 1

1 - tan q

15)  tan (3p

4
 - q ) = 

-1 - tan q

1 - tan q

tan (3p

4
 - q )

= 
tan

3p

4
 - tan q

1 + tan
3p

4
tan q

= 
-1 - tan q

1 - tan q

= 
-1 - tan q

1 - tan q

16)  tan (q  + 180°) = tan q

tan (q  + 180°)

= 
tan q  + tan 180°

1 - tan q tan 180°

= 
tan q  + 0

1 - tan q  × 0
= tan q


